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1. Text Proposal for 25.814

--- Begin Text Proposal ---

7.1.2.4  Cell search
The Synchronization Channel (SCH) for LTE shall facilitate simple and fast cell search and synchronization. The synchronization sequence defined below fulfils this goal by enabling differential correlation to acquire time and frequency synchronization.  

The synchronization sequence used for cell search should span the duration of one or multiple OFDM symbols. 

Within the duration of at least one of the one or more OFDM symbols the synchronization sequence should contain two or more  – possibly sign inverted – repetitions of the same basis signal. Figure 1 and 2 show examples of two such configurations: The synchronization sequence in Figure 1 spans the duration of 2 OFDM symbols and contains 4 – possibly sign inverted – repetitions per OFDM symbol duration. The synchronization sequence in Figure 2 spans 1 OFDM symbol duration and contains 2 – possibly sign inverted – repetitions.  These figures serve only demonstrative purposes and do not specify the number of OFDM symbols per synchronization sequence nor the number of repetitions during one OFDM symbol period.
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Figure 1: The synchronization sequence spans the duration of 2 OFDM symbols. During each OFDM symbol duration the synchronization sequence consists of 4 – possibly sign inverted – repetitions.  This figure is for illustrative purposes only and does neither specify the length of the synchronization sequence nor the number of – possibly sign inverted – repetitions.
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Figure 2: The synchronization sequence spans the duration of 1 OFDM symbol. During one OFDM symbol duration the synchronization sequence consists of 2 – possibly sign inverted – repetitions. This figure is for illustrative purposes only and does neither specify the length of the synchronization sequence nor the number of – possibly sign inverted – repetitions.
--- End Text Proposal ---
